Math 099 - Quiz 1
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Score

Show all work to receive full credit. Supply explanations when necessary.

1. (2 points) Which specific operation would you do first in the following expression?

L. 2-(5°—8)+18+2
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2. (6 points) Evaluate each expression. Show your work.

(a) 8—3-(-2) ,
= 8- (-6) = U:L
(b) 2-2y-2-2-[2x(2-2)] R
0 -9-8-(ax0) = -9-9-0 = -9-3 - (-4 |
2. (18/3) 36 A i Ja ,
(c) PESEE m = 943 /a Ll_ﬂ

"3, (1 point) Give an example of a whole number that is not a natural number.
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4. (1 point) Give an example of a rational number that is not an integer.
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